







#### STAFF TIMESHEET (December 2021)

Name of the staff	Kevser ÇINAR	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.12.2021	IO2	Designing badges to map learning trajectory	2	74 €	148€
TR	16-17.12.2021	IO2	Aligning badges to standards Having experts issue badges Seeingk external backing of credential	2	74€	148€
TR	27-29.12.2021	IO2	Working on diverse learning in open digital badges	3	74€	222€
Total number of staff day				7		518€

18/01/2022

Dr. Kevser Çınar Researcher

18/01/2022











## STAFF TIMESHEET (September 2021)

Name of the staff	Kevser ÇINAR	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.09.2021	IO2	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74 €	148€
TR	09-10.09.2021	IO2	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74 €	148€
TR	13-14.09.2021	IO2	App Interface customization in Turkish language.	2	74€	148€
TR	20-21.09.2021	IO2	Preparation of the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74€	148€
TR	27-28.09.2021	102	Preparation of the digital Storytelling training program to understand how to design and create Mobile-based stories named webisodes	2	74€	148€

TIN E	Ray KAN	Erasmu	o-funded by the s+ Programme uropean Union	TÜRKİYE ULUSAL AJANSI TURKISH MATIONAL AGENCY	R E P U B L I C MINISTRY OF	OF TURKEY	
Total number of staff day					10		740€

03/11/2021 Dr. Kevser Çınar Researcher

July .

03/11/2021 Prof. Dr. Zekeriya MIZIRAK Authorized Person











## STAFF TIMESHEET (JUNE 2022)

Name of the staff	Kevser ÇINAR	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.06.2022	IO2	Combining both Education and Tourism Open Digital Badges on Teacher degree content modules and Tourism Destination Management	2	74€	148€
TR	09-10.06.2022	IO2	Combining both Education and Tourism Open Digital Badges on Teacher degree content modules and Tourism Destination Management	2	74€	148€
TR	13-14.06.2022	IO2	Capitalizing and adapting to all badges and integrate them into their training portfolio.	2	74€	148€
TR	16-17.06.2022	IO2	Working on Virtual Destination Manager (VDM) profile training design for GEO-Stories and service interaction.	2	74€	148€
TR	20-21.06.2022	IO2	Working on Virtual Destination Manager (VDM) profile training design for GEO-Stories and service interaction.	2	74 €	148€

STUIN ERG DU UNVVERSITS	KAN	🕴 Erasmu	e-funded by the s+ Programme uropean Union	TÜRKİYE ULUSAL AJANSI TURKISH NATIONAL AGENCY	REPUBLIC MINISTRY OF	OF TURKEY	
Total number of staff day					10		740€

27/07/2022

Dr. Kevser Çınar Researcher

JUN C

27/07/2022











## STAFF TIMESHEET (November 2021)

Name of the staff	Kevser ÇINAR	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	04-05.11.2021	IO2	Working on Open Digital Badge Concept	2	74 €	148€
TR	08-09.11.2021	IO2	Working on Open Digital Badge Concept	2	74€	148€
TR	11-12.11.2021	IO2	Working on Open Digital Badge Concept	2	74 €	148€
TR	15-16.11.2021	IO2	Working on design principles for recognizing learning with digital badges	2	74€	148€
TR	18-19.11.2021	IO2	Working on design principles for recognizing learning with digital badges	2	74€	148 €
Total number of staff day				10		740 €





Co-funded by the Erasmus+ Programme of the European Union





18/01/2022

Prof. Dr. Zekeriya MIZIRAK Authorized Person

Kony

18/01/2022

Dr. Kevser Çınar Researcher









## STAFF TIMESHEET (March 2022)

Name of the staff	Kevser ÇINAR
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	07-08.03.2022	IO2	-Aligning badges to standards	2	74 €	148 €
TR	10-11.03.2022	IO2	-Having experts issue badges, - Seeking external backing of credential paying attention to diverse learning	2	74€	148€
TR	14-15.03.2022	102	-Determining appropriate lifespan of badges -Recognizing educator learning	2	74€	148€
TR	17-18.03.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of using badges as a means of external communication.	2	74€	148€
TR	21-22.03.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of using badges as a means of external communication.	2	74€	148€









Total number of staff day

27/07/2022

Dr. Kevser Çınar Researcher

27/07/2022

740 €











## STAFF TIMESHEET (May 2022)

Name of the staff	Kevser ÇINAR
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	05-06.05.2022	102	Working on Design Principles for Studying Learning in Digital Badge Systems Using traditional evidence:	2	74€	148€
TR	10-11.05.2022	IO2	Study badge impact: Research of badges -Improving badge impact: Research for badges -Improving badge ecosystems: Research for ecosystems	2	74€	148€
TR	12-13.05.2022	IO2	Study badge impact: Research of badges -Improving badge impact: Research for badges -Improving badge ecosystems: Research for ecosystems	2	74€	148€







T. VERS				R E P U B L I C MINISTRY OF DIRECTORATI	OF TURKEY Foreign Affairs For Eu Affairs	
TR	17-18.05.2022	IO2	Using the evidence contained in badges: -Studying badge impact with badge evidence: Research WITH & of badges -Improving badge impact with badge evidence: Research WITH & FOR badges -Improving badge ecosystems with badge evidence: Research WITH & FOR ecosystems	2	74€	148€
TR	23-24.05.2022	IO2	Using the evidence contained in badges: -Studying badge impact with badge evidence: Research WITH & of badges -Improving badge impact with badge evidence: Research WITH & FOR badges -Improving badge ecosystems with badge evidence: Research WITH & FOR ecosystems	2	74€	148€
Total number of staff day				10		740 €

27/07/2022

Dr. Kevser Çınar Researcher

27/07/2022











## STAFF TIMESHEET (April 2022)

Name of the staff	Kevser ÇINAR
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.04.2022	102	<ul> <li>Using levelled badge systems</li> <li>Enhancing validity with expert judgment</li> <li>Aligning assessment activities to standards:</li> <li>Creating measurable learning objectives</li> </ul>	2	74€	148€
TR	11-12.04.2022	IO2	Using levelled badge systems - Enhancing validity with expert judgment -Aligning assessment activities to standards: Creating measurable learning objectives	2	74€	148€
TR	13-14.04.2022	IO2	Using levelled badge systems - Enhancing validity with expert judgment -Aligning assessment activities to standards: Creating measurable learning objectives	2	74 €	148€

TIN E TUNE UNIVERSI	R BYKAZ	Erasmu	-funded by the s+ Programme uropean Union		OF TURKEY	
TR	18-19.04.2022	IO2	-Using performance assessments in relevant contexts -Using e-portfolios -Using formative functions of assessment	2	74 €	148€
TR	20-21.04.2022	IO2	Using performance assessments in relevant contexts -Using e-portfolios -Using formative functions of assessment	2	74€	148€
Total number of staff day				10		740€

27/07/2022 Dr. Kevser Çınar Researcher

27/07/2022 Prof. Dr. Zekeriya MIZIRAK Authorized Person

onya









## STAFF TIMESHEET (January 2022)

Name of the staff	Kevser ÇINAR
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.01.2022	102	Working on desing principles for recognizing learning with digital badges in terms of seeking external backing of credential and recognizing diverse learning.	2	74€	148€
TR	10-11.01.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of seeking external backing of credential and recognizing diverse learning.	2	74€	148€
TR	13-14.01.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of seeking external backing of credential and recognizing diverse learning.	2	74€	148€
TR	17-18.01.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of using badges as a means of external communication.	2	74 €	148€

UNITIN R	R BTEAR	Erasmu	-funded by the s+ Programme uropean Union	R E P U B L I C MINISTRY OF	UMIHURIYETI BAKANLIGI IGI BAŞKANLIGI OF TURKEY POREGNATFAIRS	
TR	20-21.01.2022	IO2	Working on desing principles for recognizing learning with digital badges in terms of using badges as a means of external communication.	2	74€	148€
Total number of staff day				10		740€

18/01/2022

Dr. Kevser Çınar Researcher

18/01/2022







Co-funded by the Erasmus+ Programme of the European Union





# STAFF TIMESHEET (July 2022)

Name of the staff	Kevser ÇINAR	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	ion Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.07.2022	102	Working on Virtual Destination Manager (VDM) training design for GEO- Stories and service interaction.	2	74€	148€
TR	11-12.07.2022	IO2	Working on Design and implementation of a new Virtual Destination Management training - SMARTDEMA - based on SMART TOURISM at University level.	2	74€	148€
TR	13-14.07.2022	IO2	Working on Design and implementation of a new Virtual Destination Management training - SMARTDEMA - based on SMART TOURISM at University level.	2	74 €	148€

Co-funded by the Erasmus+ Programme of the European Union						
TR	18-19.07.2022	IO2	Working on Design and implementation of a new Virtual professions (as partof the SMARTDEMA training) in Turkey to manage through the App the gamifying experience of the cities.	2	74 €	148€
TR	20-21.07.2022	IO2	Working on Design and implementation of a new Virtual professions (as partof the SMARTDEMA training) in Turkey to manage through the App the gamifying experience of the cities.	2	74€	148€
Total number of staff day				10		740€

27/07/2022

Dr. Kevser Çınar Researcher

## 27/07/2022











## STAFF TIMESHEET (October 2021)

Name of the staff	Kevser ÇINAR			
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher			
Project Number	2020-1-TR01-KA203-092920			
Project Name	SMART Tourism Destination increasing citizen's sentim of sharing local tourism related values through gamificat using emerging mobile Apps and SMALL Data analysi SMARTDEMA			
Name of the organization	Necmettin Erbakan University			

<b>a</b> ,		A,		<b>NT</b> 1	D '1	<b>T</b> ( 1
Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	04-05.10.2021	102	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74€	148€
TR	06-07.10.2021	IO2	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74 €	148€
TR	11-12.10.2021	IO2	App Interface customization in Turkish language.	2	74€	148€
TR	14-15.10.2021	IO2	Preparation of the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74€	148€
TR	18-19.10.2021	102	Preparation of the digital Storytelling training program to understand how to design and create Mobile-based stories named webisodes	2	74€	148€

Co-Infided by the Erasmus+ Programme of the European Union						CREIVE CUMHURIVETI USISLERI DAKANLIGI VUUDA BIRLIGI DASKANLIGI EPUBEIC OF TURKEV EPUBEIC OF TURKEV		
TR	20-21.10.2021	IO2	Preparation of the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74 €	148€		
TR	26-27.10.2021	IO2	Preparation of the digital Storytelling training program to understand how to design and create Mobile-based stories named webisodes	2	74€	148€		
Total number of staff day				14		1036€		

03/11/2021

Dr. Kevser Çınar Researcher

#### 03/11/2021

